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. The common multiples of 9 and 7 =

(i) {63,189,252,106} (ii) {63,126,189,252} (iii) {63,126,252,152} (iv) {63,126,252,174}
(v) {126,189,252,298}

. The common multiples of 8, 6 and 4 =

(i) {24,48,72,120,144,199} (ii) {24,48,96,120,144,79} (iii) {24,48,72,96,120,161}

(iv) {24,48,72,96,120,144} (v) {24,48,72,120,144,201}

. The common multiples of 7 and 5 =

(i) {35,70,105,175,99} (ii) {35,105,140,175,279} (iii)) {35,70,105,140,26} (iv) {35,70,105,140,175}
(v) {35,70,140,175,148}

The common multiples of 9, 6 and 4 =
(i) {36,72,144,103} (ii) {36,72,144,278} (iii) {72,108,144,289} (iv) {36,72,108,144}
(v) {36,108,144,227}

Find the LCM of {6,8}
(i) 21 (ii) 26 (iii) 25 (iv) 23 (v) 24

Find the LCM of {6,8}
(i) 27 (ii) 21 (iii) 25 (iv) 24 (v) 23

Find the LCM of{18,15,9}
(i) 87 (ii) 91 (iii) 90 (iv) 93 (v) 89

Find the LCM 0f{10,4,8,18}
(i) 363 (ii) 360 (iii)) 359 (iv) 361 (v) 357

Find the LCM of {150,135}
(i) 1353 (ii) 1348 (iii)) 1349 (iv) 1350 (v) 1351

Find the LCM of {400,200}
(i) 399 (ii) 402 (iii)) 400 (iv) 398 (v) 401

Find the LCM of {88,40,104}
(i) 5719 (ii) 5720 (iii)) 5718 (iv) 5723 (v) 5721

Find the LCM 0f{114,66,84,12}
(i) 17556 (ii) 17557 (iii) 17554 (iv) 17559 (v) 17555

The common multiples of 5 and 9 =

(i) {45,90,180,69} (ii) {45,90,135,28} (iii)) {45,90,135,180} (iv) {45,90,180,251} (v) {45,135,180,131}
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The common multiples of 4,8 and 6 =

(i) {24,48,72,96,120,201}
(iv) {24,48,96,120,144,131} (v)

The common multiples of 3 and 5 =

(i) {15,30,45,60,75,90,105,120}

(iv) {15,30,45,60,75,90,120,118}

(ii) {24,48,72,96,120,167}

(iii) {24,48,96,120,144,13}

{24,48,72,96,120,144}

(it) {15,45,60,75,90,105,120,79} (iii)

(v) {15,30,45,60,75,90,105,126}

The common multiples of 4,9 and 6 =

(i) {36,72,108,144}

(i)

(v) {72,108,144,271}

Find the LCM of {8,9}

(i) 73 (i)

72 (iii)

71

Find the LCM of {4,18}

(i) 35 (i)

34 (iii)

36

(iv) 69 (v)

(iv) 37 (v)

Find the LCM of {10,14,6}

(i) 211 (ii) 209 (iii)

Find the LCM of{4,12,10,18}

(i) 182 (ii) 181 (iii)

Find the LCM of {360,320}

(i) 2883

(i) 2881

(iii)

2877 (iv)

Find the LCM of {450,330}
(iii) 4949 (iv) 4950 (v) 4947

(i) 4952

(i) 4951

Find the LCM of {72,48,120}

(i) 720 (ii) 722 (iii)

Find the LCM 0f{160,48,16,56}

(i) 3361

(i) 3358

(iii)

3359 (iv)

{36,72,108,197}

75

39

207 (iv) 210 (v) 213

177 (iv) 180 (v) 179

2879 (v)

721 (iv) 719 (v) 717

3363 (v)

2880

3360

(iii) {36,108,144,49} (iv)

{30,45,60,75,90,105,120,113}

{36,72,144,83}
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